
Retract A
w

ay Clothes Lines – Retract A
w

ay M
ounting O

ptions
2

Retract A
w

ay Clothes Lines – Retract A
w

ay 50

2

Retract Away Mounting Options

  Retract Away 40 or 50 Cabinet 

 Retract Away Catch 
Galvanised finish

Wall to Post 
Products required
 	 1x Retract Away 40 or 50 Cabinet, 1x Post, Ground Socket optional

Fittings supplied
 	 Cabinet: Catch (Hook), 2 x ZP washers

 	 Post: 2 x M8x65mm Hex head bolts, 2 x M8 Hex nuts, Post Cap

You will require
 	 For masonry walls: 2 x 8x75mm screws, 2x 10x75mm plugs, 10mm drill bit

 	 For timber walls: 2 x 8x75mm screws

 	 For Post: Concrete mix, gravel, 2x 13mm spanners/shifters 
For Plated Post: 4 x M6 Galvanised masonry screws/screw bolts (per post)

  Mounting Bar

 Ground Socket  
with galvanised  

Pin and Cap

The galvanised Pin 
is punched through 

the side of the Ground 
Socket, to set the 
height of Retract 

Away Posts and Fold 
Away Columns

Post to Wall
Products required
 	 1x Retract Away 40 or 50 Cabinet, 1x Post, 1x Mounting Bar, Ground Socket optional

Fittings supplied
 	 Cabinet: Catch (Hook), 2x ZP washers

 	 Post: 2x M8x65mm Hex head bolts, 2x M8 Hex nuts and Post Cap

 	 Mounting Bar: 2x 8x90 Hex bolts and nuts, 2x M8x40 Hex bolts and nuts, 4x washers

You will require
 	 For masonry walls: 2x 8x75mm screws, 2x 10x75mm plugs, 10mm drill bit

 	 For timber walls: 2x 8x75mm screws

 	 For Post: Concrete mix, gravel, 2x 13mm spanners/shifters 
For Plated Post: 4 x M6 Galvanised masonry screws/screw bolts (per post)

Wall to Wall
Products required
 	 1x Retract Away 40 or 50 Cabinet

Fittings supplied
 	 Cabinet: Catch (Hook), 2x ZP washers

You will require
 	 For masonry walls: 4x 8x75mm screws, 4x 10x75mm plugs

 	 For timber walls: 8x75mm screws, 10mm drill bit

Post to Post
Products required
 	 1x Retract Away 40 or 50 Cabinet, 2x Posts, 1x Mounting Bar, Ground Socket optional

Fittings supplied
 	 Cabinet: Catch (Hook), 2x ZP washers

 	 Post: 2x M8x65mm Hex head bolts, 2x M8 Hex nuts and Post Cap. 

 	 Mounting Bar: 2x 8x90 Hex bolts and nuts, 2x M8x40 Hex bolts and nuts, 4x washers

You will require
 	 For Posts: Concrete mix, gravel, 2x 13mm spanners/shifters 

For Plated Posts: 4 x M6 Galvanised masonry screws/screw bolts (per post)

Welded Plate Base: 
100mmW x 150mmD x 6mmH 

Each plate requires 4 x M6 Galv. 
masonry screws/screw bolts.  

Min. embedment 45mm

Woodland Grey models shown

 Retract Away Post and  
Retract Away Plated Post

17 	 For further information please visit our website: australclotheslines.com.au 	 ach-mc-2018-10-V1


